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100 000
вььфь п!цптцтшр шц ! ф*р 400 250

09\з22о0

1фшшььр х х х х 100 000
\82з|099 2тшчпгшшт 1]ц Бтдшт 13000 5 65 000
18231100 2тшчпгшъп шц }тц:шт 1490 6 8 940
18231 100 2тшчпгштп шц }ттцтп 1 690 5 8 450
18231100 2ш:чпгштл шц }тц:ъп з290 11 з6 190

х х х х 118 580
18451 100 \лт6тш110!р шц Бтцшт з50 2 700
1 845 1 з00 $[цш:шБц шц ш:пьф 400 2 800
1 845 1 300 пьфь Бш:чпгштл[: шц Бтцш; 250 -) 750
1 845 1 300 пьфь }:ш:чпгшш:|т шц Бц:ъп \70 10 ! 700
1 845 1400 6цаш: }тш:чпгшъп}: шц т.|[тпр 1300 -) 3 900
18451з00 ёш:чтпт|},1: шц т.|Бштр 500 15 7 500
1 845 1400 $}тпт1ш: шц г|Бштр 1 000 5 5 000

ещФ1'ььв х х х х 20 350
1881 1 160 ип2[:\[[р шц чп1]ч 3000 10 30 000
1881 1200 {.}ш:ш}т\ ш1] чп|]ч 1600 15 24 000
1.8800!00 0\тпъ|Б!1 х х х х 54 000
19210000 \:лпр[Ё,р (чпр6т|ш:6р[Бр) шц

х
цРш{ 1 60000 1 160 000

сфйть1:ц х х х 160 000
19431600 @Б1Бр &*рР шц цРш{ 24о0 2 400
19441 100 0|т[рБчп1: шц \ч 2000 з 6 000
19а0о000 Р\тшт|[!р х х х х 8 400
1964|000 шщ:}т чтшр\ 501 шц Бтптл 700 ] 700
19641000 шщ:[т чтшр\ 301 шц Бтцшт 400 8 3 200

х х х х з 200



249\1200 [т1пъ1ш}тш: шц }:тцтп 1 000 25 25 000
24911700 0пш}т[& ф:"ф шц Бтцтп 2000 2 4 000
2495\1з0 ш}лф\пь|т &пц шц Бтп:л 60 200 12 000
24900000 1[4тпт{}[р х х х х 41 000
зо]-92121 +р}': 1]ц тпптф 70 50 3 500
зо\922з2 т-т\": шш Бтптл 600 5 3 000
зо1922з1 |аща[ ш\п2 шц Бтцтп 400 2 800
30192350 а'}ш-ь 0ш:чтшг|Ё1: шц }ттц:л \20 40 4 800
з0197210 @цатпчтп[тш\ шц !ттцшл з00 15 4 500
з0!972з1 $*!1 шц Бтцтл !5 200 3 000
3019751 1 шштт|гшргшртттц> шц }ттдтл | 000 5 5 000
з0197622 |апгца |14 шц ьппгф 2000 \4 28 000
30190000 0фйт1ььр х х х х 52 600
з02з4з00 )-Р 52х шц Бтпшт 100 8 800
з02з4400 )уо_к шц Бш:тл 100 9 900
з02з4670 05Б Б}т2пг1птр1пг1: шц [тптп 2500 2 5 000
30200000 01дцшт!Б!в х х х х 6 700
31151120 (/!пт_9т1тш[ тшщ:3пгр (0Р5) шц Бтптл 15000 1 15 000
31221200 1шрп9.{тшрцтп\ шц }ттцт.п 75о 6 4 500
з|22|280 бр\тшрш:9т|тп1' г*р}' чфьч шц Бтпш: 7оо 6 4 2о0
з!22128\ Фрфртпч1йшш: шц Бцтшт 2600 4 10 400
з\з211з0 |1Б,\тпртш\тш[ 1тпр шц [ттцтл 150 30 4 500
3 1410000 1}тпршт\п9 АА А шц }лтцш; 1800 ! 1 800
з1410000 1'}тпртл\п9 шц Бтптл 450 8 з 600
з1521440 5п!ш:Бтшп|т 1пъ3ш!,р шц Бц:ш: 1 000 2 2 000
з1521441 5п[тш6тшп[: 1пт;шЁ,р шц Бтдтл 2000 4 8 000
31531210 [ф\:лртп\тл[ цтт{ч 60' 75,100 шц Бтцш: 100 '15 ! 500
31531210 [ф\тлртп\тш[ 1тшт{щ'1 50 шц Бтцтл 150 10 1 500
з 153 1210 !ф\ш:ртп\ш:! 1тлт{ч 1 00 шц Бтдтп 350 35 12 250
315з1300 5!ъпБшпг1 1тпт{чБ,р шц Бц:тл 800 5 4 000
31651400 {|Ё\пъш[л2 ёштчтшт|Б1: шц Бтптл 2о0 2о 4 000
з 1000000 [фш:т|Б!р х х х х 77 250
зз7 \1210 огцз тц!&Бппз}:\ шц }тш-ттл 70 20 | 400
зз7 !12!0 11[&Бпп9}:\ шц Бтптп 250 20 5 000
3з761000 ?пъчтпртш!}т Рпщр шц Бтшш: 100 250 25 000
зз761 100 9пт9тшрш:|:тш\п!р т1тпррпг1 т1]т2п9!Ёр шц Бтццт 500 5 2 500
33700000 0!цтпт{[!д х х х х 3з 900
з9|51220 \тш}:пт1р}: тш[}тт| шц Бтцтл 600 10 6 000
з9\5\220 9тпБпг3р}: ц'ььф }штш2пг\ шш Бтцш: 8000 1 8 000
з915|220 \тпБт:г3р|т тш!}тт| }штш2пг\ шц }т-тлтл 6000 ] 6 000
39,150000 0\п:т|Б[р х х х х 20 000
з9221440 ф6[0' 0\тшц2тш\тш0 шц }:тцтл 1 800 ! 1 800
з9221440 ф6п0' 0\тш1т2тш!4гш0 шц Бтцш: 27о0 | 2 700
з9221460 ф6п0' 0!р\тшцтшртп\сш 0 шц }ттцтл 500 |0 5 000



зя2:тзэо 
|шьчш:ьчтцт!ц1 оч1п1цчпр6т1ш:[ ртпёш:\[Ёр шш }тц:тл 5 1522 7 610

з9241141' |'}тп[тш\ шц

шц
[тцтп 360 | 360

з9241210 ||]\г*тп }тш::л з000 з 000
39200000 |[!.:цш:т1Ё[1 х х х х 20 470
39531600 |2п:шттп\}т 6тпБ\пг;р шц т[Ёт.пр2 20 2000 40 000
39530000 1[цтшт|Ё!р х х х х 40 000
39541110 'г|тпрш:1: шц }тц:тп 200 7 1 400
з9541110 |0тпртп[рш:т[ртп\1тп шц Бц:тл 300 7 2 100
з9эооооо' |п!цтшъгььр х х х х з 500
з97\|220 [1Б\тлртш\тш! шр6[ф шц Бтцш: 1 700 1 1 700
з97!з4з\ Фп2}\пъф чшрчьр шц Бцттп 2000 2 4 000

Р!цп:т1Б!р х х х х 5 700
з98з1240 1цчр*\}, ББцпг\ шц ф*г 1 500 _) 4 500
з98з1-245 аьщ'\ о6тшп /ц[цБтп!птр очш:тшчпр6т[тц[ &Б: шц Бтптл 1 500 15 22 500
398з1'247 11}шшттшБтп[пч Б!,цпг\ шц }ттцшт | 000 \2 12 000
з98з1270 [|чпъ[ц 2шт[ шц }:тпш: 2500 2 5 000
з98з!970 0чпъ[ч 3шт[ шш }ттп:л з500 2 7 000
3983 1 280 цч*\}' т1тпрр!, 1пг }т!, цпт\ шц Бц:ъп 450 5 2 250
398з5000 л1111л1цч ц1цРР п[п| ап1, ч1тп!б00ббб[-

тБт'''тп'':т шц Бтцтл 1 700 ! 1 700
39836000 гшг|!1 шпт|:тцгш14тш0 шц Бц.ттп ! :ооо 2 2 000

сщш{ьцгв, х х х х 56 950
44111410 ь[р\ьц шш црц1{ 31000 1 з1 000
4411\421 цпг0гп0.;пгр (!пгьр) шш т}[|ц1!| 220о0 22 000

441'\27зо 9тпрпц ш\тпт|ш:пш:\ фпрр ш11 Бтптп 500 2 1 000
44\19100 5тп}штптш\ шц

шц

т1Б,штр 7000 1 7 000
44119100 [рртпшттп}штптш\ 1 0т|т1 }ттптл 7500 1 7 500
441\9100 [рртш'тлтп}штптш\ 1 2т1т1 шц Бтцъп 8500 1 8 500
44119100 [рртштлтп}штп:п\ {т1ъ| шц }ттптл 4600 4 18 400
44\19100 [рртштлтп}штптш\ 6т{т| шц !ттцшл 6000 4 24 000
441 19100 Фтп3тпЁ !пРцп| шц чь{ 600 70 42 000
4416з100 1шпг1пт{тш\ шц чь[ 600 30 18 000
44192610 шьь шш \ч 1 000 4 4 000

441 00000 0\ш:т|Б!р х х х х 183 400
44500000 оььь /чБтлф/ шц цРш{ 6з00 1 6 з00
445!\\\0 Ртп}:|л чп2 шц

|ц
Бтцтп 900 4 3 600

44511270 т|::гр6}р
}ттцтл ] 600 ! 1 600

44551 100 1п0!ц|т фъш!тш0 шц }:тцшт 1 800 2 3 600
44511зз0 9пр6|тр[[р шц 4рц1{ 20000 20 000
4451\з40 }тш3ф\п1: шц 4г|1ц1{ 91 50 9 150
4452]12з0 0тп[ч1Бп}л т1|т2пг[1 шц штпгф 200 э 600
445212з0 1}штЁчфп}: т{]т2пъ\ шц тппгф 500 ) 1 500
445з 1 1 80

ц |.ц ц пч' пБцп1_ц, чш:пгтптп[' ббф-бцб[_
п,п' -1-' '.'''п-Ё- чтт''Б1--Б ь,^'',__' *'''!' шц 4р1п1| 1500 1 7 500

44551 100 }п0!ф фтш 11ьш 0! т!!2:тг11 шш Бтцтп 2400 2 4 800



44500000 0[цтшт|Б!тц х х х х 58 650

448 ] ] 900 цпц!црцпц1л]лц1цц о !']'''|ц]1цш1ц ш

-ь1''*.'''^!-''''!.\ с.'_..-ь.' шц цРщ{ 6000 1 6 000

44820000 |1црьц шц цР1111| 5550 1 5 550

448з 1 500 [пъБ|т2 шц [тцшт 600 5 3 000

44800000 0!цтпт|!1лц х х х х 14 550

2. бштптш3пгр3пъ!!1Ёр 4 70з 90о

45400000
сь[рьр}т \тшрпъ1 9[Ё, р}' ц1'р*з1'р |-:прпрпгт{

щц:Бштц!лът[
шц цР1ц1| 25000 1 25 000

0фш:т{[[р, х х х х 25 000

50з 1 1 300 2'}ш-ь шчтпштшр\пгт[ шц цР1ц1| 14400 1 14 400

503 1 1300 01:цшъ{Ё1!р х х х х 14 400

50411190 2тп\тпБрцЁ}ттш1|т!т 6тшптп3птр1пг1: шц црц11| 30000 з0 000

50400000 [фтпт.|Ё!р х х х х 30 000

50531200 Ртшъпр|т21т[р}т ф9рштт|прптт1 шц 4Р1ц11 1 0600 10 600

[фйт!ььр х х х х |0 600

602з|200
5рш0шщпрглш'1[0 фп[шшцп0щ0
6шр./[!,поБ!/ шц цР1ц1{ 430000 1 430 000

6о20оооо ?\шт|[[ц х х х х 4з0 000

6351 1200 3пт[шЁ, р[т т|тп6тшпр[л ъ|}т2[прц'тпт|6тпр шц црш{ 541 700 547 700

6'3500000 1фш:т.|[[д х х х х 541 700

64211\00 [1рп!Ёт{Б,!тпш:1}:1л шц црц11| | 1 5200 115 200

642\\101 [}т2ртшцтпртп1[:[ ! }шпштш\9пгр1пт!:|:Бр}' т16т.,; шц цр1!11| 1 7000 17 000

642\\102 2тпт[тп9тш[9 / }:!штБр[Ёшт/ шц цР1111] 8000 12 96 000

64200000 [!цтлъ!Б!р х х х х 228 200

651 1 1 100 9ртпт[тпт'птш\тшртшрптт[ шш цр1п1-| 32000 з2 000

65100000 0!цш:[[[р х х х х з2 000

65з 1 1 100 |1Б\штртш[1-тБрч}'* шц цт|ш{ 795000 795 000

66500000 Р\тшт1Б!р х х х х 795 000

66111200 Ёш:!\тш3 [:[ 6тлптп3 птр1 пъ1: шц цР1111.| 40000 1 40 000

66100000 0!4тпт.|Б[р х х х х 40 000

72211174 20 шчтшптпр\т[тш[ 6тшптш3птр1пь1: шц цР1ш11 95000 | 95 000

72200000 [!цФт|Б!р х х х х 95 000

79111200 [!,р\тп1ш:9пт91тп\тш[ 6тшпш:3пгр1пт|: шц цР1ш1{ ! 00000 | 1 00 000

7910о000 х х х х 100 000

79з4||з0 9пт|тпчцтш3}т!. 6ш:.пш:1пьр3пг1: шц цр1]11' ]44000 ] 144 000

79300000 [!цш:т|[!р х х х х 144 000

79820000 5чтпчрптр1пт1: шц цР1ц1| \21000 1 127 000

79800000 01!цтпъ|[!ц х х х х \27 000

79991200 ъ[рр[:[ цпр6пчпгт[!Бр шц црш{ 440000 1 440 000

79900000 ефшт:ььц х х х х 440 000

905 1 1 100 (1щ:} 1ттпт|тшрт!тп 0 }тппьш.1тттр.1:тт0 0|р шц цРш1{ 45000 ! 45 000

90500000 0!цшт{[!р х х х х 45 000

92з11160 2тш3}тЁф[тш\ шц ц1!щ{ 1 600000 ! 1 600 000

92300000 0фтшт{[!р х х х х 1 600 000

[фтпт|Ё&р х х х 5 783 100


